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Topic:- Child Development & Pedagogy (CDP)

1) Thematic Apperception Test was designed by ./ fawg-sreraty= uteror (Qﬁﬁ_cﬁ
TRAURE ) §RT T yifed foear 4T Tl

1. Eysenck and Allport / 3-11%@? I 3Teae

2. Galton and Kretchemer / 3TeceT 3T hadT

3. Jung and Sheldon / ?EI_’?T}ﬁT A3
4. Murray and Morgan / #FX 31X #leTeT

Correct Answer :-

. Murray and Morgan / #X 3T AT

2) You are a pediatric resident. A 7-year-old Tarun is suspected to suffer from autism. You
referred this boy to see an educational psychologist for assessment. The education psychologist
sends a report to you and you need to explain the findings to his mother. His strength is MOST
likely found in which of the following areas?

/ 3ITY U dTdfafped® &1 7 I & a0l &1 3fifeed 4 Nifsd g1 &1 319
YT 3ATYA 5T AP P Aipad P Qg U Afére AdTI D B @ &
forg W1 e wdTe 3Mue) ve RUid Aear @ 3R U] 39H 3
qrel frepy I I B AT B U B ATIYHT 8 | SHB! dTehd,
fFrafafad A 9 feg &7 & 817 o gaifie dva-r 82

1. Oral presentation skills / Afgs ER-T:IJ?T hierel
2. Verbal concept formation/ FHI & ITUROT IS

3. Block design/ seller f3<iIs

4. Abstract thinking/ 3-]?{\?—‘[ arg

Correct Answer :-



. Block design/ sclieh f3oTS

3) Gender is determined while sex is determined. / freT

¥ ¥ PuiRE g § Tar AT w9 @ PuiRasard)
1. Socially, Culturally / m,ﬂiﬁjﬁlﬁ?

2. Biologically, Socially / ifaes ,grafais

3. Biologically, Environmentally ISIGER ,tmﬁaﬂﬁm

A

4. Culturally, Biologically /HiRpidd ,Sifddb

Correct Answer :-

4) Children often blame themselves for parental conflict. What Piagetian
principle explains this belief? / §T 3FaT AG-fAar & di=r §'l!' SIS &
foT gg A ot #rd ¥ Rarer Rguia 3@ Qe @ Far sarear w3
8?

1. Egocentrism / ¥arey
2. A-not-B error / T-sTgi-aT ?lfc'f
3. Conservation / II&T0T

4. Animism / HalcHAIC

Correct Answer :-

. Egocentrism / Fard

5) A set of rules that helps us to derive meaning is known as: / st 1
qe S X Y AT H A AT 8, e & T F AT AT §:

1. Sentences / dTFd

2. Phonemes / Blai&d
3. Words / lsq

4. Semantics / AIATCH



Correct Answer :-

. Semantics / THTCH

6) Trisha is an eight-year old girl who confidently performs arithmetic tasks
that involve adding or subtracting zero from a number. According to Piaget,
which cognitive ability enables Trisha in understanding the concept?/ X2 T

TS guly asdr §, S ATcATIRET ¥ FFAOHT F1F FIAT § TwH vH
HEAT § T ) SAsar A1 g afae 31 ek & aefar, sia @t
HAEACHS &TAdT e ) 3TUROT FHsTs H HaTH Tt 872

1. Decenter/ ﬁa:qw

2. Conservation/ TI&TOT
3. Logical reasoning/ cTfehehdl (liTotehel IIoTieidr)
4. Reversibility/ faaar

Correct Answer :-

. Logical reasoning/ dTfehepdT (@ilTotehel {Isifeian)

7) By three years, the child is able to speak ./ Al a¥ g, sT@
diee ¥ |aTA {er B

1. Syllables / 31&TX

2. Grammatically complete words / ST 01k &I tI;U‘f As
3. Words / 2Ueq;

4. Functionally complete words / PRITcHS ¥ Tﬁ' Asc

Correct Answer :-

« Functionally complete words / FATCHS &I q‘;U‘f AUec

8) According to Abraham Maslow, is the summit of human motivation.
/ TEH AT F HTUR, ___ ATTd G0 AT qUH1SaT B

1. Safety need / GI&TT CANICEDE TS|

2. Love and belonging need / HEIT{‘UFIT Td Tig I 3ATaeTehdr



3. Need for Self-actualisation / W—ﬁlﬂ:@' CANR ICERIC TS
4. Esteem need / GFHATT T 3TTThdl

Correct Answer :-

« Need for Self-actualisation / W—ﬁ?{% AR GERICTS ||

9) What type of memory processing involves focusing on the superficial
characteristics of an object? / ¥ TSR &Y Fﬂﬁ' YHERIOT H R a&d
T Fag dvar W eue Fga @ anfAa g2

1. Deep level processing / IT@T X T

2. Partial processing / 3TTTRIh G&TEA

3. Elaborative processing / ﬁ??(l}_-f qarereT

4. Shallow level processing / 3Tl TAX AT

Correct Answer :-

. Shallow level processing / 3YelT TAX AT

10) What principle of learning is observed when a child does well in an exam
because he was promised a new phone? / sferere &1 FlT @1 ﬁa}n?r afara
ST § o9 sTar R o # reoT g #ar § #4ifE 3§ e av
WIsT T aTer fHar aam a1?

1. Negative reinforcement / sTehRIcHh qodéldd

2. Negative punishment / sThRTcH GUs

3. Positive punishment / HRTcHs SUS

4, Positive reinforcement / HhRTcHSD go-lofloio-l

Correct Answer :-

. Positive reinforcement / HhRTcHD :I)o-léﬂo-l

11) What is the unit of heredity? / HTIafwar 1 FHS FIT 52

1. Zygote | JIHATS



2. Gene / SileT

3. Fertilized cell / AT hifenr
4, Chromosome /@ﬂﬁ@n

Correct Answer :-

. Gene/ ST

12) A child does his chores because he will be rewarded with a chocolate if he
does. What is the term used to describe the chocolate? / U&h §TdT 3(del HIH
AT § FIF IR g FIAT ¢ af 3/ dlhoe ¥ WEpod fhar STeam|
gidelc FT quId Flal & AU Fa oasg &1 39909 Far Jmar g2

1. Operant conditioner / ﬁ?amg 3-1333'%
2. Punishing stimulus / &Y 3?.'@'%5

3. Reinforcer / 9deleh

4. Neutral stimulus / JCET 3&c9h

Correct Answer :-

. Reinforcer / Ydeleh

13) Trail and error method was put forth by: / ¥esl 74T If¢ A goreh
garr yfaarfee #r 71$:

1. Thorndike / ATT8TSH

2. Kohler / hIgoll
3. Piaget / O

4. Pavlov / 9rdelld

Correct Answer :-

. Thorndike / TS

14) A student who completes tasks to earn marks is motivated by:/ T ST S

3% Hola & F AT v g0 Far @, 98 399 IR @ ¥



1. Knowing needs/ 3Ta2IhdI31 &l SATeTaAT
2. Intrinsic factors/ 3TcReh HRP

3. Extrinsic factors/ EI'I—E-'»ﬁ h{h

4. Mastery goals/ #gRd & T

Correct Answer :-

. Extrinsic factors/ STgY eh

15) Through classical conditioning, a neutral stimulus becomes a/an A
Rrufafsa wrqsee (Farf@we Fufam) & aeas @, vw sl
SEdH T oo ST §

1. Unconditioned Response / Hﬂﬂﬁjﬁlﬁ 1A ToRar

pel
o

2. Unconditioned stimulus / 3Telelehiold 3ccldh

XN ~

o o

3. Conditioned stimulus / HTeJehell 3carden

4. Conditioned Response / W H@WT

Correct Answer :-

16) A continuous loud noise is avoided by closing the door. This is an example

of ./ AT BT 9¢ F& TINAR T Irell AT TaTar & &9T ST &)
qE $T TS 3STEI0T ¢

1. Negative reinforcement / sThRTcHh Lio-lcflolo-l

2. Negative punishment / JhRTcHh GUS

3. Positive punishment / ShRIcHb gUS

4, Positive reinforcement / ShRTIcHD 'jo-lscloic-l

Correct Answer :-

. Negative reinforcement / sThRTcHh LIoo-hsclolo-l



During middle childhood, when faced with failure, what meaning would
children attach to their experience? / 7T TUUT & G, T FAHAAT BT
HIHAT FIAT GST g, dl T YA [T @ FAT FASAN?

1. Shying away from activities in which they are likely to succeed. / Gl THY
afafafear @ oY Ed ¢ TSiete 3T Aol Blel T HTI=T &l

2. Conclude that trying new things is better. / Ig fa2ad & ok s rar Hr
ALY FAT g &

3. Conclude that failure is an indication of their incompetence, not a condition that
can be modified by learning or practicing. / Ig fo~hy Seprerer fh 3werar
3AFT H&THAT FT Hohd g, T ol fufa § 98 Af8erH e o
HEATH H q AT FEr fHar a1 Fehr g

4. Frustration and becoming more pessimistic about their abilities. / sﬁr 3R 39ET

STATAT & Hay H Y HermaK & Sid gl

Correct Answer :-

« Conclude that failure is an indication of their incompetence, not a condition that
can be modified by learning or practicing. / Idg o~y SHepraer fF 3werar
3eTehl 3&THAT T Hehdl &, o T Ul [&ufa § o/ 3 & a
AT A H HAT F@r fohadm ST FeheTl Bl

18) Several tissues coordinate to give rise to a system. This is known as ./
$$ FdP, T YUl A SIoH &of & AT FH-aT S &1 390 T
# =T ST

1. Continuity / Taxdar

2. Integration / ThIhIOT

3. Specificity / faQrsdr
4. Differentiation / TA®iesT

Correct Answer :-

. Integration / ThTahoT

19) Which theory integrates principles explored by chaos, network, and
complexity and self-organisation theories? / l-HT ﬁ'afll'l?-l' TS dT, stedsh



3R SIfeerar va rer-weres Rqual garT @ier v RqHial F vhhd
T 87

1. Cognitivism / HaTeIlcHE
2. Connectivism / GAISTTdTG,
3. Behaviourism / cddgRdlq
4. Humanism / ATAddldIq

Correct Answer :-

. Connectivism / GATSTeTdIg

20) Which of the following is not a teaching skill in inclusive education? /

farafaf@a & @ sl gamaht R 7 v Rawor Fherer 736 82
1. Formative / T@&T0TcHS

2. Achievement / 3Tclfe¥

3. Summative / JN3McHb

4. Performance / 9&gTeT

Correct Answer :-

. Formative / fQATOITcHS

21) Which of the following types of parenting is least likely to benefit a child’s

development? / fA&ifaf@a 7 ¥ 59 Y9R & -9 § T2 F
e & a7 g A FHTEAT FEH FA 2

1. Permissive / 3-1@?41?\75

2. Uninvolved / 3rHSEY (aellcAs & & & ST §3M)
3. Authoritarian / EATATGT

4. Authoritative / 3TTTHIRS

Correct Answer :-

+ Uninvolved / 3EECY (HIG=AlcA® & & o 3T §3M)



22) Which of the following steps should be taken in order to develop creativity

in students? / BT A [WATCHS AT FHAT FA & T Aafaf@a & @
FiT T FSH 3IST AT TA1RT?

1. The teacher has to give freedom to respond. / f1&7& T gfafehar ¢ & fow
TadAdT Sl AR

2. The teacher should deliver lectures on the importance of creativity. / f2réTe @I
ITATCHS AT o Hgcd U SITEAT Sall dligU|

3. Students should be given opportunities to ask questions. / STdl I YT CI(\TW
& T 3rae garr =nfgul

4. Teacher himself should be creative. / {87 &I TaT T TATcHS glel

TRT|

Correct Answer :-

. The teacher has to give freedom to respond. / f1&T& T gfafehar ¢ & forw
= CECIN-CINC Y

23) Which is the final stage of Piaget’s theory of cognitive development? /

e & FaeenAs Remm & Rgua f sifad serar s @
1. Formal operation stage / 3i1qaTikeh Tfehar 31aedr

2. Pre-operational stage / ‘{r\a‘r-mm 3aEAT

3. Concrete operation stage / Fl(\?-‘f afepar 3raear

4. Sensorimotor stage / Tdqr 9T 3raTAT

Correct Answer :-

- Formal operation stage / 3{TqaTRe @fehar raear

24) Different parts of the body have / R & R %T\‘I’I' H Eﬂ?IT %’:
1. Sporadic development / %Eg? fara a1 Fér-Far faer

2. Uniform development / AT fasra

3. Different rate of development / fdhra & faffiest X

4. No development / PS5 TGhT A&



Correct Answer :-

. Different rate of development / fd&@ & faffieeT X

25) If 20 dots are put along a straight line or curve, we see them together ignoring the
gap between them. This follows which of Gestalt’s principle of perceptual organization? /

gl 20 fig Pl U AR Tap @& AY-ATY I ATCT 3 3R 0 I7P a1 & SR
DI AFTET Y THATY ST 3 | TT NTee & ATURUITHSD 6+ & e Rigia &1
STERUT T 82

1. Law of continuity / TEaXdr &1 e
2. Law of proximity / f[erear &1 faae
3. Law of closure / §aYOT &l T IH

4. Law of similarity / T€IdT &l fa T

Correct Answer :-

. Law of continuity / Taa<ar & faae

26) Teachers need to the needs of diverse group of student. / Rrersl #l sl &
fafay g o smazaearsii &1 DI JTaTIHaT 3

1. Take care of / €TeT T@aT
2. Orchestrate / ASTAT Fallet
3. Handle / 83T et

4. Deal with / HHSIAT Hlat

Correct Answer :-

. Orchestrate / ITSTaAT Saodlor

27) According to Jean Piaget, the process which involves changing our

existing schemas in the light of new information is known as ./ S
e & SER, 98 ufthar forad A8 IM®RI & USRI § §HR HISGl W T
DI SGTAT WA & & U H ST a1 g

1. Equilibration / 9TFT

2. Assimilation / ATcHIATINIU]



3. Organization/ HITSeT
4. Accommodation / 3TdIH

Correct Answer :-

« Accommodation / ATdIH

28) Which of the following is most crucial for children to learn to live in a

society?/mﬁﬁaﬁq aa‘raﬁwwﬁwﬁ%%q%ﬁ'@ﬁﬁ
9 Hgayyl 32

1. To work on individual tasks / IfFaera It W 1A LT
2. To work collaboratively / TgITIT & T el

3. To work for rewards /W?WWWT

4. To work in isolation / TehTd H ShTH el

Correct Answer :-

. To work collaboratively / T&J1eT & ST il

29) Which of the following can help the child to overcome failure in school? /
fFrafafeaa 4 3 o19-91 9= ! faearag o srwear $f R &3 | Heg IR
Tl 82

1. Asking them to Focus on next assessment / 3@ 3Tl i IR & dhigd HA
DI Dl

2. Motivating and encouraging them to emphasize on efforts over ability / &HdI 3|

31f¥es Tl R SR 1 & fol I8 URd =T 3R Uieaned &l
3. Giving them some free time for leisure / B% 3R & ﬁl’Q PS Qe 9T AT
4. Changing their section/Class / "L STJHIT/hET CAKS AN

Correct Answer :-

« Motivating and encouraging them to emphasize on efforts over ability / &HdI 3|

31 T IR OIR ¢ & forw I URd AT 3R Weifad

30) ’My test results show that | have an interest for sports but | do not have
stamina to play’; which of the following tests describes the above statement?/



W qfieror RomT AR F F A A A s T AT M aw e F
forT ggaafaa a8 & R=Rf@a & @ sl a1 eI sRiTT FAT F1
guie HaT &7

1. Aptitude Test/ 3-1'@7{% qT&ToT

2. Skill test/ ShiRrel GT&TOT

3. Achievement test/ 3TcITed] TT&TUT
4. Intelligence Test/ E;I,aﬁf qT&ToT

Correct Answer :-

. Aptitude Test/ﬂ@qﬁr qT&ToT

Topic:- General English(L1GE)

1) Fillin the blank with the correct option from those given below:
Any econom-- will agree that entrepreneurs are crucial to the develop-- of every branch of industry.

1. --ist ... -ment

2. --iC ... —-ing
3. -y ..-ing
4, --ical ... --mental

Correct Answer :-

e —jst..--ment

2) Read the passage carefully and answer the question given below:

As we celebrate International Women's Day and the progress made in achieving women's rights everywhere, we should not lose
sight of the fact that widespread discrimination against women persists in law and practice, directly or indirectly, all over the
world.

Public outcry and headlines tend to concentrate on egregious cases of female genital mutilation, punishment of rape victims,
sexual slavery, and degrading treatment of all sorts. But it is the “low intensity” discrimination, often sanctioned by law, that
condemns millions of women to daily hardship and suffering. Beyond sparse and mainly ritual condemnations, such pervasive
conditions continue to fly below the international radar.

A recent study, commissioned by the U.N., underscores that this occurs despite the fact that the rights of women to equality and
non-discrimination are enshrined in a number of international instruments, including the Universal Declaration of Human Rights,
the U.N. Charter and, most extensively, in the Convention on the Elimination of All Forms of Discrimination against Women.

According to the writer, which one of the following is a conspicuously bad sign of discrimination against women?



1. All of the above
2. Genital mutilation only
3. Sexual slavery only

4. Punishment of rape victims only

Correct Answer :-

e All of the above

3) Read the passage carefully and answer the question given below:

As we celebrate International Women's Day and the progress made in achieving women's rights everywhere, we should not lose
sight of the fact that widespread discrimination against women persists in law and practice, directly or indirectly, all over the
world.

Public outery and headlines tend to concentrate on egregious cases of female genital mutilation, punishment of rape victims,
sexual slavery, and degrading treatment of all sorts. But it is the “low intensity” discrimination, often sanctioned by law, that
condemns millions of women to daily hardship and suffering. Beyond sparse and mainly ritual condemnations, such pervasive
conditions continue to fly below the international radar.

A recent study, commissioned by the U.N., underscores that this occurs despite the fact that the rights of women to equality and
non-discrimination are enshrined in a number of international instruments, including the Universal Declaration of Human Rights,
the U.N. Charter and, most extensively, in the Convention on the Elimination of All Forms of Discrimination against Women.

According to the writer, which crimes don't hit the headlines?
1. All of the above

2. Sexual slavery

3. Everyday drudgery and oppression

4. Female genital mutilation

Correct Answer :-

* Everyday drudgery and oppression

4) Read the passage carefully and answer the question given below:

As we celebrate International Women's Day and the progress made in achieving women's rights everywhere, we should not lose
sight of the fact that widespread discrimination against women persists in law and practice, directly or indirectly, all over the
world.

Public outery and headlines tend to concentrate on egregious cases of female genital mutilation, punishment of rape victims,
sexual slavery, and degrading treatment of all sorts. But it is the “low intensity” discrimination, often sanctioned by law, that
condemns millions of women to daily hardship and suffering. Beyond sparse and mainly ritual condemnations, such pervasive
conditions continue to fly below the international radar.

A recent study, commissioned by the U.N., underscores that this occurs despite the fact that the rights of women to equality and
non-discrimination are enshrined in a number of international instruments, including the Universal Declaration of Human Rights,
the U.N. Charter and, most extensively, in the Convention on the Elimination of All Forms of Discrimination against Women.



What is the main idea of the passage?

1. International Women's Day

2. The universal Declaration of Human Rights
3. The universal discrimination against women

4. A study on the rights of women

Correct Answer :-

® The universal discrimination against women

5) Read the passage carefully and answer the question given below:

With less than one per cent of the Gross Domestic Product (GDP) invested in public healthcare provision, India is currently one of
the world's most privatized health economies.

India is a country which is home to one-fifth of the world's diseases, where the regular level of malnourished children is higher
than that of sub-Saharan Africa, and with higher rates of anemia and maternal under nourishment. The buzzwords inscribed into
current government policy, including the Eleventh Five Year Plan, are Public Private Partnerships (PPPs) - contracting out,
franchising, voucher schemes, and subsidies.

However, even proponents of PPPs in more developed states are suspicious of their application in emerging economies, where
there are high proportions of people living on or below the poverty line who have never experienced healthcare as a contractual,
democratic right.

Solid investment, motivated and well-paid staff, established and integrated audit and regulatory systems, excellent political
communications, citizens who expect well-performing public services - without these as a starting point, can marketisation
realistically be expected to create equitable and sustainable delivery of essential services like healthcare?

What is the main thrust of government policies for health care for the people?
1. Involving developed countries

2. Well trained staff

3. Public hospitals

4. Public-private partnership

Correct Answer :-

® Public-private partnership

6) Read the passage carefully and answer the question given below:

With less than one per cent of the Gross Domestic Product (GDP) invested in public healthcare provision, India is currently one of
the world's most privatized health economies.

India is a country which is home to one-fifth of the world's diseases, where the regular level of malnourished children is higher
than that of sub-Saharan Africa, and with higher rates of anemia and maternal under nourishment. The buzzwords inscribed into
current government policy, including the Eleventh Five Year Plan, are Public Private Partnerships (PPPs) - contracting out,
franchising, voucher schemes, and subsidies.



However, even proponents of PPPs in more developed states are suspicious of their application in emerging economies, where
there are high proportions of people living on or below the poverty line who have never experienced healthcare as a contractual,
democratic right.

Solid investment, motivated and well-paid staff, established and integrated audit and regulatory systems, excellent political
communications, citizens who expect well-performing public services - without these as a starting point, can marketisation
realistically be expected to create equitable and sustainable delivery of essential services like healthcare?

What is the main idea of the passage?
1. The prevalent diseases in India

2. Delivering healthcare to the people
3. Concerns about public health

4. A study on poverty and health

Correct Answer :-

® Delivering healthcare to the people

7) Read the passage carefully and answer the question given below:

With less than one per cent of the Gross Domestic Product (GDP) invested in public healthcare provision, India is currently one of
the world's most privatized health economies.

India is a country which is home to one-fifth of the world's diseases, where the regular level of malnourished children is higher
than that of sub-Saharan Africa, and with higher rates of anemia and maternal under nourishment. The buzzwords inscribed into
current government policy, including the Eleventh Five Year Plan, are Public Private Partnerships (PPPs) - contracting out,
franchising, voucher schemes, and subsidies.

However, even proponents of PPPs in more developed states are suspicious of their application in emerging economies, where
there are high proportions of people living on or below the poverty line who have never experienced healthcare as a contractual,
democratic right.

Solid investment, motivated and well-paid staff, established and integrated audit and regulatory systems, excellent political
communications, citizens who expect well-performing public services - without these as a starting point, can marketisation
realistically be expected to create equitable and sustainable delivery of essential services like healthcare?

In the passage, which of the following issues has not been addressed by the writer?
1. Economic status of a country

2. Literacy rate

3. Medic and paramedic staff

4. Population growth

Correct Answer :-

e Literacy rate



8) Read the passage carefully and answer the question given below:

With less than one per cent of the Gross Domestic Product (GDP) invested in public healthcare provision, India is currently one of
the world's most privatized health economies.

India is a country which is home to one-fifth of the world's diseases, where the regular level of malnourished children is higher
than that of sub-Saharan Africa, and with higher rates of anemia and maternal under nourishment. The buzzwords inscribed into
current government policy, including the Eleventh Five Year Plan, are Public Private Partnerships (PPPs) - contracting out,
franchising, voucher schemes, and subsidies.

However, even proponents of PPPs in more developed states are suspicious of their application in emerging economies, where
there are high proportions of people living on or below the poverty line who have never experienced healthcare as a contractual,
democratic right.

Solid investment, motivated and well-paid staff, established and integrated audit and regulatory systems, excellent political
communications, citizens who expect well-performing public services - without these as a starting point, can marketisation
realistically be expected to create equitable and sustainable delivery of essential services like healthcare?

According to the passage, what are the pre-requisites for effective health care in the private
sector?

1. High investment, a motivated and well paid staff, and good regulations
2. Better preventive health
3. Empowerment of village hospitals

4. Foreign involvement

Correct Answer :-

® High investment, a motivated and well paid staff, and good regulations

9) Read the passage carefully and answer the question given below:

As we celebrate International Women's Day and the progress made in achieving women's
rights everywhere, we should not lose sight of the fact that widespread discrimination
against women persists in law and practice, directly or indirectly, all over the world.

Public outcry and headlines tend to concentrate on egregious cases of female genital
mutilation, punishment of rape victims, sexual slavery, and degrading treatment of all sorts.
But it is the “low intensity” discrimination, often sanctioned by law, that condemns millions
of women to daily hardship and suffering. Beyond sparse and mainly ritual condemnations,
such pervasive conditions continue to fly below the international radar.

A recent study, commissioned by the U.N., underscores that this occurs despite the fact that
the rights of women to equality and non-discrimination are enshrined in a number of
international instruments, including the Universal Declaration of Human Rights, the U.N.
Charter and, most extensively, in the Convention on the Elimination of All Forms of
Discrimination against Women.

In the passage to fly below the international radar means:



1. An issue that catches public attention
2. An issue dealt at the international level
3. Something that fails to be noticed or is ignored

4, Something that is discussed on a national platform

Correct Answer :-

« Something that fails to be noticed or is ignored

Rewrite the following changing the active sentence to passive.
Let her take the camera.

1. Take her to the camera.
2. The camera needs to be taken by her.
3. She has to take the camera.

4. Let the camera be taken by her.

Correct Answer :-
« Let the camera be taken by her.

11) Read the sentence carefully and choose the option that has an error in it:

The stranger gave us much informations.
1. No error

2. much informations.

3. gave us

4, The stranger

Correct Answer :-

* No error

12) Fill in the blank with the correct option in the given sentence:
A note added to a completed letter is a --script.

1. post --

2. sub --

3. pre --



4. super --

Correct Answer :-

13) Choose the right tag:

You can solve this question, ?
1. can you not

2. didn't you

3. did you not

4. can't you

Correct Answer :-

e can't you

14) Choose the option that substitutes the given phrase appropriately.
A person who has a sophisticated charm

1. Debonair

2. Witty

3. Petite

4, Beau

Correct Answer :-

» Debonair

15) Change the given sentence into Indirect Speech:
He said to me, ‘How old are you?’

1. He asked me how old I was.

2. He asked me how old you are.

3. He said to me how old are you?

4, He said to me how old am 1?

Correct Answer :-

e He asked me how old I was.



16) Choose the appropriate prepositions for the given sentence:

Results a new clinical trial has shown a new radiotherapy technique can treat cancer
patients just five sessions instead of the typical 37.

1l.in...in
2. of ...on
3. from ...in

4, for...on

Correct Answer :-
e from ...in

17) Choose the appropriate antonym for the highlighted word in the given sentence.

Inventors often prefer to work in isolation.
1. solitude

2. confinement

3. group

4. liveliness

Correct Answer :-

e group

18) Choose the appropriate conjunctions for the given sentence.
theball____ the bat belongs to me.

1. whether ... or

2. rather ... than

3. neither ... nor

4, as ... as

Correct Answer :-

¢ neither ... nor

19) Choose the appropriate option that rewrites the given sentence in its passive voice.

One must confront such problems.



1. Confrontations of such problems must be one.
2. Such problems must be confronted.
3. Such problem must be in confrontation.

4. Such problem must be confronted by one.

Correct Answer :-

e Such problems must be confronted.

20) Choose the appropriate tense to fill in the blanks in the given sentence:

I up at 6am every morning and for a walk.

1. get, went
2. get, go
3. got, goes

4. got, went

Correct Answer :-

21) Choose the appropriate tense to fill in the blank in the given sentence:

The summer holidays are over and all schools
1. have reopen

2. have reopened

3. has reopened

4. had reopened

Correct Answer :-
« have reopened

22) Choose the appropriate synonym for the highlighted word in the given sentence.

My uncle, who is a park ranger, is well trained to handle a wide variety of emergencies.
1. fire fighter
2. owner of parks

3. police patroller in parks



4. keeper of parks

Correct Answer :-

» keeper of parks

23) Choose appropriate article for the given sentence:
_____Ganges is the most fertile river

1. An

2. A

3. The

4. No article

Correct Answer :-
e The
24) Choose appropriate articles for the given sentence:

In 1929, Fleming wrote __ report of his laboratory experiments, presented it at ___ medical meeting,
and had it printed in ___ medical journals

1. no article required ... the ... a
2.4a..a..no article required
3. the ... a ...no article required

4, the ... the ... the

Correct Answer :-

* a..a..no article required

25) Choose an appropriate determiners for the given sentence.
They had so success with so effort.

1. little, little

2. many, few

3. much, little

4, few, much

Correct Answer :-

e much, little



26) Choose an appropriate modal for the given sentence:

When I was a child, I spend hours together playing with my toys.

1. should
2. will
3. can

4, would

Correct Answer :-

» would

27) Choose the most suitable pronoun for the given sentence:

I went shopping for clothes yesterday, but I couldn’t find that I liked.
1. nothing

2. something

3. everything

4. anything

Correct Answer :-

28) Choose the option that best explains the highlighted expression:
She was thrilled to bits when I told her that she was offered the job.
1. very much tensed

2. very much annoyed

3. extremely pleased

4. broken to pieces

Correct Answer :-

o extremely pleased

29) Choose the right tag:

Mihika doesn't like to play cricket, ?



1. does she
2. doesn’t she
3. didn’t she

4, did she

Correct Answer :-

e does she

30) Which of the following options best combines the given sentences?

This is a huge unit. It employs 900 workers.

1. This is not only a huge unit but also it employs 900 workers.
2. This is a huge unit so only it employs 900 workers.

3. This is such a huge unit that it employs 900 workers.

4. Being a huge unit, it that it employs 900 workers.

Correct Answer :-

« This is such a huge unit that it employs 900 workers.

Topic:- General Hindi(L2GH)

1) wat #1§ 3m§ A= i 3ed T

a7 Y T S 3, AR W@ A«
Rfa-fa # g 4+ Priah, Ag efist qenl
et sifr ot av 3R, Faftr # st gen
S afa wR wet aeh g 93 o wiol

%3 FUC AT F1 fawean, g & afq @ sof|
el S S 1 q@r, 97 g I e

Hg FAR AT & Yhe 3T 571 a7 @)
39T GG FI GgHT AN IF AT oA FT IR IA5Y:
weoT- ‘el NS S S qer 9fFT F1 o @2

1. ST & aTe 3MTel 1 31T

2. 37 & a1g T I F UH g e

3. 377l & a1 Fr IS F q§ S



4. 3TN & a1 Hr aut F ofer e

Correct Answer :-

o 3TEN & a1 Y gur F T ST

2) gal #r§ 3§ A & et Y

a7 Y ol g 33EN, AR W@ o "
Rfa-Ra #r g@ 4+t P, Ale wefist qen
Bt sifar aR & 3R, Faftr 1 sist ger
ST Sperfar FR wat qel g g3 7 aiof

3 F9c F1AT F1 fawean, g A afq @ sofi)
el iy st 9 qg1, 97 & I« e

Fg FAR AT & THe 3T AT a7 G|
3YYFA YSII F GGHF Al q&F AT G T IR IABA:
W - g1 R U & T&A FT FAT FRT 2

1. AT T wifeq & e

2. T &1 30T

3. W F Bd R Ser

4, 3Te &1 AT

Correct Answer :-

o AT & oIt & e

3) wdl #1$ 3E AT 3 T

o7 Y ol g 33EN, AR W@ o "
Rfa-Ra #r g@ 4+t P, Alg welist qen
et sifar aR & 3R, Faftr 1 sist ger
S Sperfar FR wat qiel fawg g3 7 aiof

3 FU¢ F1AT F1 fawean, g A afy @ sofi)
el iy S 9 qg1, 97 & I e

¢ FAR AT & THe 3 AT a7 G|
3YYFA YSII F1 GGHF AT q&F AT G 1 IR IABA:
WRA- ‘FUC g HT AT 872

1. 4c



2.8
3. f[Aswue

4. ST

Correct Answer :-

4) wat s 3 AT Fr wed Y

g7 A T g 33E, AR W@ A qie|
Rfa-Ra #r g@ 4+t P, Alg selist qen
freat sifr o av suR, Fafer #r st genl
S Sperfar FR wet qiel ey g3 7 aiof

%3 F9e FrAT F1 fawean, g A afq @ sofi)
e S S 1 q@r, 97 g I e

g FAR T & THe 3 AT aF7 G|
3YYFA YSII FI GGH Al q&F T YT FT IR IS
woe- ‘ISl Tea FT HY 2

1. 9 gt

2. 9g G ST

3. T ST

4, HATIT ST

Correct Answer :-

o« A gd STl

5) ¥dl #1$ 3§ AT $Y e T

g7 A T g 33E, AR W@ T qied|
Rfa-Ra #r g& 4+t P, Alg aefist qen
freat sifr o av suR, Fafer #r st genl
S Sperfar FR wet qiel g g3 7 gioh

%3 F9¢ FAT F1 fawean, g & afq @ sof|
e S S I q@r, 97 g I e

e FAR Hid & gwe 3T oAr ax @)
3YYFA YSIT FI GGH Al q& T YT FT IR IS



- Y GfFd & AREr & A @2
1.oRT

2. oI5 &

3. {eTaT &

4. GrETRe Siae

Correct Answer :-

MRS Siasl

6) Tdl g 3 AT iy 3mefr Y

s/ & T WS 33N, Av W@ e
Rfa-fa # g I+t Prih, Ag wefisT qen
Bt sifr o av 3R, Fafer 0 sist genl
sher Sparfer R ot aret o g3 7 gt
%3 FUC AT F1 fawean, g v afq @ sofi)
el S S 1 q@r, 97 g I e

Hg FAR HT & yhe 3T 571 a7 @i
39T GG FI GgHT AN IF AT oA FT IR IA5Y:
weeT - g5 1 e gem?

1. #foAem

2. SfateT

3. forameT

4. gopat

Correct Answer :-

7) |l #TE 3§ FA @ et Y

oA #Y & g I3, AW @ o ared|
Rfa-fa & g 4+t Fiah, aAe aefist qen
et sifr o av 3R, Fafer 0 sist genl
sher gparfar &R et aret e g3 o gt

%3 $9 AT F1 fawean, g v afq @ sof)
el i S 1 g1, W & S e



Hg FAR HT & yhe 3T 571 a7 @i

39T GG FI GgHT AN IF AT ToA FT IR IA5Y:
W — ‘g & ad 87

1. |TEROT

2. SITET

3. 41T Y

4. 31T

Correct Answer :-

o AiT T

8) wal #1$ TS AT Hir 3med Y

o7 i T g 38EN, AR W@ o "
Rf-fm 1 g & Arih, A adlter qen
Bt sifa aR & suR, Faftr 1 sist gen
S Serfar FR wedt qiel g 93 7 gioh

%3 FIC FET 1 AHEdr, gR AT afd s@ Smoft|
e S N 1 q@r, 97§ I e

Fg FAR AT & YHhe 3T 971 aw @il
39T TGN FI GgHT A I AT oA FT 3R IA159:
weeT - HdX & Fgi AR FA §2

1.9 g9

2. 39ET

3. 379ad

4, FARTAT

Correct Answer :-

9) wal #1$ 3T T dr ed Y

a7 i T g 38EN, AR W@ o "
Rfa-fa 1 q@ it i, Ag aefisT qen
et sifa aR & suR, Faftr 1 sist gen
ST Sperfar wR wet ael g g3 a aiof



%3 $9¢ AT F1 fawean, g v afq @ sofi)

el S N 1 q@r, 97 g I e

g FAR Hid & gwe 3fa wAr aw d=l|

39T TGIRM FI GgH A I AT TRA FT 3R IA54:
vee- el &1 qaTHardt ad 82

1. 3fm

2. T

3. a8

4, Tohard

Correct Answer :-

10) wal 01§ 3§ F v med

a7 i T g 38EN, AR W@ o "
Rfa-Ra #r g 4+t P, Ale aelisT qen
freat sifr o av suR, Fafer #r siet genl
ST Sperfar FR wat qel g g3 7 aiof

%3 F9¢ AT F1 fawean, g A afq @ sofi)
el % St 9 qg1, 97 & I« e

¢ FAR AT & THe 3 AT a7 G
39T IGIARM FI GgHT A g AT oA FT 3R IdA159:
geeT- ‘ST Al A aead §?

1. giFd ST

2. TR L&A

3. ST

4, ST

Correct Answer :-

11) wat 91§ 3§ = v 3med
a7 1 Tl g 38EN, AR W@ o "
RfA-Re $r g G+ AR, A aefisr gen



freat sifr o av suR, Fafer #r st genl

S Farfa wR wat st g g3 7 il

3 F9¢ AT F1 fawean, g A afq @ sofi)

el IS st 9 qg1, 97 & I e

g FAR AT & THe 3 AT a7 G

39T GGIRM FI GgHT A G AT oA FT 3R IA139:

Y- W UFadt § FdRe ¥ e Ager # wuifa R 32
1. 95

2. AT

3. AT

4. A

Correct Answer :-

12) @ar s$ 3m$ AT Fr 3met Y

a7 1 ol S 38EN, AR W@ o "

Rfa-Ra #r g@ 4+t P, Ale welisT qen

freat oifd o av 3R, Faftr # st gen

S S FR wet aiel ey g3 7 aiof

3 Fue F1AT F1 fawean, g A afy @ sofi)

el iy st I qg1, 97 & I e

g FAR T & THe 3T AT a7 G|

3YYFA YSII F1 GGHF Al q&F AT G HT 3R IABA:
ged- ‘Hal AT HTE AT ¥ e ¥ A FiF W@ 6N §7?
1. 3CHET 3feleh}

2. §9F Il

3. T RN

4. 3UAT el

Correct Answer :-

13) wdal g s AT iy 3mef Y



a7 i ol g 38EN, AR W@ o "
Rfa-Ra #ir g@ 4+t P, Alw aelisT qen
Bt sifr aR & 3R, Faftr 1 sist gen
S Sperfar FR wet arel ey g3 7 aiof

%3 FUc FrAT F1 fawean, g A afq @ sofi)
el iy S I qg1, 97 & I e

g FAR T & THe 3 AT a7 G
3YYFA YSIT F1 GGHF Al q&F AT GeT T 3R IABA:
U- HAR F FFT T & AT F I Y 91T FY 82
1. 3

2. 3

3. ST

4, AT

Correct Answer :-

14) gar 1§ 3M§ A v 3ed

o Y T | 3N, AR @ A ared|
Rfa-Ra @ g 4+t P, Alg aelist qen
freat sifr o av 3R, Fafer v sist genl
S Sperfar FR wedt qiel g g3 7 giof

%3 F9¢ FAT F1 e, g & afq @ sof|
e S Y I q@r, 97 g I e

Fg FAR HIT & IHe 3T #A1 a7 =l
3YYFA YSIIT FI GGHF Al q&F T YT FT 3R I8
WreT- ‘elr § aread §?

1. A=

2. Il

.99

4. ¥IFH

Correct Answer :-

. TIEN



15) war g s AT v mefr Y

oA #Y & | I3, AW @ o ared|
Rfa-fa & g 4ot Friah, ae aefist qen
et sifr o av 3R, Fafer 1 sist genl
S Serfar FR wedt qiel g g3 7 gioh

%% Fc HAT F1 fAwean, g A1 afa s sofi|
e S N 1 q@r, 97§ I e

T FAR AT F g T o a7 =l
39T GG FI GgHT A & AT oA FT 3R IA5Y:
Y- ‘FTAT A FT el T §?

1.8

2. T

3. 5%

4. (&Y

Correct Answer :-
o i3

16) W 1857 §. & R AT YYUT AT WET FEAYR A FAR gt T o HE o, af T Srear #
el Ot A B WY T A I wH| A Aew gy A Rar F AgT F wA O, wW e 7 =@ F
ag et A 9 @ FRaT § 39 Al ik fowwme & wr e & s W REm @ QwrEry
gofer g e Y St U AN gdld W AT Bl FAR H W0 IS WA F AqG IS H
s g Rgy A 3R 1AM R & a1 wea F1 Towea o oA 3 @ 5@ aga 9 wFvla
AT & Y A FTF A FASAT A AT F Il F AAT TGS FT AGT HEHA T aof HT fewy Fam
Afw oo F I @1 AN FAE, I FAT AgA F WA A TF HcAd Foad AP IH @I g1 TS|
wmmmaﬁmmﬂgmwﬁﬁ;maﬁ#mﬁaﬁmWWMHa
Rl 37 afds & sOwe # @3 A IS Jamfa F NS AR F A FAT IHFT FIOMOT T@
3R Irevaaw q@HT FAfy F ot 3W W FT a3 A

3YYFA ASINT T GgHT A IS AT oA FT I IABY:
- 3eqaay &1 Y gRm?

1. |rgdr

2. %A 3H drell

3. TTeleh

4. ey

Correct Answer :-



17) & 1857 §. & QI AT YyUT AT WET FEAR A FARA gt W o« AP o, af F Sredr #
el gt A B WY T A I FH| A A gy A Rar F AgT F wH O, | e 7 =@ F
g IS A 9 @ a1 & 39 Al AR vy @ | AT A s v Ram swe dwmed
gole aToT g F ot Uw AR gAl@ FW a1 ¥ FEGR A WU gAEs FA F A IS Fw
ﬂﬁmaﬁﬁuﬁaﬂrwﬁﬁwﬁmmﬂmmﬁmmwmm%ﬂﬁm
mﬂ:mmmsﬂﬁ;mm#aﬂw*m#mwmmmwaﬁmﬁmwﬁml
Afw o F I @1 AT TS, I FAT AgA F WA A TF Hedd oI AP IMHT @I g1 TS|
30 3EHT IS JaATafer F T3 IRTF g3, FAF FAed FqeA F FAT g AMAH I@T Fel Q@ o &
Rl 37 fddr & A H @3 A IS JIfA F N T@A F A AT 3HHT FIOM qW
3R Irevaw q@HT FAfy F ot 3W W FT aAwT A

3YYFA I Y TgHT A IS AT oA HT I TABY:
R — FAE: A1 A1 e gar 872

1. ST S

2. T 91y

3. T gefr

4, IRNFT THT

Correct Answer :-

o TH Ul

18) &< 1857 §. & AR AT YU AT Ve FAR A FAGA g W G HEW o, of & et 7
ot G AT B WF T A S qF| A Ay Ry F Aar F AgT F @t ff; W Rle T A F
e IS A 9 @ a1 F 39 Al AR vy @ | AT A s v Ram swe dweed
guleT 9TNToT FET Y UF AR gl #X AT Bl FER H iWor gz A & A el
ﬂﬁmmﬁwaﬁaﬂrwﬁﬁw#mmmmmmwwmmmm
marma?mmmm#m$m#mmmmmwﬁmmWM|
T g & S @1 A TS, 3 FAT AgA F WG A TF HAT Yol AMAST HH @I TS
Bﬁaﬁwmﬂmaﬁmmﬁgmﬁﬁ?ma@%maﬁmaﬁﬁmaa
Al 37 aifesr & WA A @3 PR AT JAHTT FT NS WEA F AT FA FHRT FIon qW
3R IeuaTd A@HT afa F St W W Fo 71 I

3YYFA ASHIYT T GgHT A I AT oA HT I TASY:
e - ATAT HgT Y Hedeld A1?

1. FERAR

2. 39T g

3. &I

4. TAR

Correct Answer :-

e HlYY

e



19) & 1857 §. & AR AT TS AT WET FAR A FAGA g W G AW a9, o & et A
ot G AT B WF T A S FF| A Ay QAW F Aar F AgT A @t ff; W RAle T =A@ F
ag ISt A 99 @ FRaT § 39 Al kR w4 Fr s F sew ww REm @ Qwrery
guleT 9TeToT 76T Y UF AR gAlyd FX AT Bl FER H o gz A & A HAe
ﬂﬁmmﬁwaﬁaﬂrwﬁﬁwﬁmmmmmmwwmmmm
aﬂsﬁ%mmﬁlmmm#mw%?ﬂm#mmaﬂmmwaﬁmﬁmwml
T g F S @1 A TS, 3 FAT AgA F WG A T IAT Yol AMAST HH @I TS
Bﬁmmmaﬂwmﬁgm,ﬁ%ma@ﬁ%maﬁmaﬁvﬁmaa
Al 39 aifesr & A # @3 PR AT JAfT F NS WEA F 7T FA FHHT FIoMPt AW
3R IeTaTd A@HT afa F St W W Fo A1 I

3YYFA ASHIT T GgHT A I AT oA HT 30 TASY:
9o 9TYTOT EGd Fgad ¥ diead 872

1. 9c2R FT heloll

2. 9T I fRrem

3. 9e T 3T

4. Q=T ssT

Correct Answer :-

o Tc2X & Feloll

20) w1 1857 §. % MG AaT Yy AT WET FAR H WG g1 W I AR o, at I Sredr #
Il Ot Aar ;Y W A F I FF| A A gy F Rar F wgw A wh o | Qe T =A@ F
e ST A 9 @ T ¥ 39 A AR vy @ | AP A s v Ram swe dweed
guleT 9TToT F6F Y UF AR gAld FX AT Bl FEQR H WO g WA F A HAG
ﬂﬁmaﬁﬁwaﬁsﬂtwﬁa&#mmmmmﬁmwwmmmm
mé?ma?ﬁlsﬂﬂ?mm#awawﬂm#mmmmmwaﬁmﬁnwml
Afw g F S @1 AT TS, IH FAT AFA F WHE A TF Hedd Frad qIaHT IH @I g TS
wwmmaﬁwmﬁgmwﬁﬁsma@$mﬁmaﬁwﬁm1éaa
ol 39 arfasr & W A @3 AR AT Fafa F MY AR { AT FAT 3WFT FIOMQT AW
3R IeTaId A@HT Aafa F ot W W F& AT A

39T ACITT F GGHT oAl G& AT TRA FT 3R IA34:
ve- GaArafa &1 3 F74r gar g7

1. 321 T GeAAH

2. Qe T AT

3. §eAT &1 AR

4.@?{Taara;ram

Correct Answer :-

o TS FT AR



21) ¥ 1857 §. % TG AT YYUT AT Fed FAR H HWRe g W S HEA o, q Srear &
IOt G AT B WA T A S qF| A Aey Ry F Rar F Aga F wedt ff;, W Rle T A F
g A A 99 @ Far @ 3@ A R ey & w AT A e w0 R swer Qured
guleT 9TNIoT FSF 1 Y UF AR gAld FX AT Bl FAR H WO gAHE WA F A HAGT
A g Rgy A 3R 7237 AR & e wea F1 Torwes o foam 3 @ s@H a5 N wFe
IS F FTT | FHF 9Ig HAS oF AT & Ml F AAT TGS HT A HTH HT o7 FT gy fwam
AT g & S @1 AT TE, 3H FAT AgA F WA A TF IcAd Yol AMAAT HH @I g T
30 A@HT AT [ATIfT FY a2 RIS g3, FAF Aew e F GAT TE Ao Ig FE @ T @
ol 39 st & W A @3 AR AT Fafa F MY AR { AT AT 3WFT FIOMQT AW
3R IrevaTw q@HT daAfy F off 3 W Fo AT IwA

39T AT F GGHT oAl G& AT TA FT 3R IAS4:
e - &t Aar gy F fras @y o

1. ATAT & AT

2. TOdr & |y

3. AT & AT

4. 37 & YT

Correct Answer :-

o [Oar & @y

22) @<l 1857 §. F TaQK AaT YYUd AT WET FAR H FAGA gt T o H0 o, at F Fedr A
Foelt O AT W WY T F S 7F| A Ay Rew F R F Az # Wt O, W RAw A w7 F
ag At A 9 @ FRar § 39 e R oy & wr e F s W M @ Qmrery
goled amToT g # ot Uw AR gAl@ W a1 ¥ FEGR A #Mwer gAwis A F A IS+
s g gt i 3R T Ry & A awa 1 Toed G @A 71327 «© 367 qga NG weal
AT F Y A TP A FAAT A AT F Il F AT TGS HT AGT HEA T oo FT fewy fFam
AfF o F I T AN TS, I FAT AgA F WA A TF Hcdd Yool AP IH @I g1 TS|
wmmﬂaﬂﬁaﬁmmﬁgmmmaﬁ#ma@mmwMHﬁ
A 37 afdd & A H @3 A IS JqfA F NS T@A F AT AT 3HHFT FIOM AW
3R Irevaaw q@HT FAfy F ot 3W W FT a3 A

3YYFT AT F GgHT AT G AT ToA FT IR IASY:
WS- ‘YU AT Wed H F He oAH FAT 82

1. @res

2. geue

3.5 @ IS L

4, TelT

Correct Answer :-



T 1857 §. & faQKl AaT YyUT AT WRT FEAR A IWHA g W IG HES Ad, A T Fedr A
IOt G AT B WA T F S qF| A Aey Ry F Rar F Aga F wedt ff;, W Rle T A F
g A A 99 @ Far @ 3@ A R ey & w AT A e w0 R swer Qured
guleT 9TNIoT FSF Y UF AR gAld FX AT Bl FAR H ior gAHE WA F A HAGT
A g Rgy A 3R 7237 AR & a1 wea F1 Toraes o o @ @ swA a5 A wFe
IS F FTT | FHF 9Ig HAS oF AT & Ml F AAT TGS HT A HTH HT o7 FT gy fwam
s g & ST @1 AT TE, 3H FAT AgA F WA A TF IcAd Yol AMAFT HH @I g T8
30 @R IS [ATITT FY a2 RIS g3, FAF Aew qeA F AT TE Ao I@ FE @ T @
ol 39 it & W & @3 AR AT Jafa F MY AR { A1 A7 3W9FT FIOMQT AW
3R Irevaw q@HT FaAfy F off 3 W Fo AT A

39T AT F GGHT oAl G& AT TRA FT 3R IAS4:
TReA- AT WIEd AT WAT fFA 379« |1y A & ST 9e?
1. Tar &r
2. 7 &
3. Uoedl &l
4, FHT AT

Correct Answer :-
o AT I
R )

24) w1 1857 §. F TaQK SaT YYUT AT WET FAR H FAGA gl T o H0 o, af F Fedr A
Foelt G FAT W WY T F S wF| A Ay Rew F Rer F Az # Wt O, W RAw A w7 F
ag At A 9 @ FRar § 39 e sk oy & A e F s R @ QmreRy
goled amToT g @ ot Uw AR gAl@ #W a1 ¥ FEGX A MU gAEs A F A IS
ﬂﬁﬁﬁmﬁwaﬁrmwﬁﬁwﬁmmmmmﬁmmwmmaﬁrm
mtmmmmmm#ma:m#ammmmmwaﬁaﬂﬁmwﬁml
Afw o F I @1 AN TS, I FAT AgA F WA A TF HeAdd Yol AP IHT @I g TS|
wmmﬂaﬂﬁaﬁmmﬁgmwﬁ%ma@ﬁ#ma@mﬁmaﬁWMHﬁ
R 37 afdF & A H @3 A IS JIfA F N T@A F A1 AT 3HHT FIOM qW
3R revaaw @S FaAfy F ot 3W W FT a3 IwA

3YYFT AT F GgHT AT G AT ToA FT IR IASY:
YReA- YYUd AT Wgd FieT A?

1. 33T

2. &dr

3. el H
9

4, T89gr

Correct Answer :-



¥ 1857 §. & TAENl AT YyUT AT AET FAR A IR gl W I AR o, A T Sear H
IOt G AT B WA T A S qF| A Aey Ry F Rar F Aga F wedt ff;, W Rle T A F
ag A A T A T ¥ 37 @A AR ey A Fr wPT A wew R sy dwrmEed
guleT 9TNIoT FSF 1 Y UF AR gAld FX AT Bl FAR H WO gAHE WA F A HAGT
A g Rgy A 3R 7237 AR & e wea F1 Torwes o foam 3 @ s@H a5 N wFe
ST F g1 et FHF 9GS F AT F M § AT AET FT AgA HEH F & F1 ey fwamy
AT g & S @1 AT TE, 3H FAT AgA F WA A TF IcAd Yol AMAAT HH @I g T
30 A@HT AT [ATIfT FY a2 RIS g3, FAF Aew e F GAT TE Ao Ig FE @ T @
ol 39 st & W A @3 AR AT Fafa F MY AR { AT AT 3WFT FIOMQT AW
3R Irevaw q@HT FaAfy F off 3 W Fo AT A

39T AT F GGHT oAl G& AT TA FT 3R IAS4:
92 - FIfdT FT qIgar A8 g7

1. gfegar

PACECD]

3. Sfefsir

4, a1

Correct Answer :-

26) w1 1857 §. ¥ TAGIA AT YYUT AT WET FAR # HAR gl T o P o, af T Sredr #
Foelt O AT W WY T F 1 wF| A Ay Ry F Rer F Az # Wt O, W RAw A w7 F
ag St A 9 @ FRar § 39 Al sk oy & wr e F s w Ram @ QmreRy
goled arToT g # ot Uw AR gAl@ # a1 ¥ FEGR A MU gAEs F F A IS+
ﬂﬁﬁﬁmﬁwaﬁrmwﬁﬁwﬁmmmmmﬁmmwmmmm
mtmmmsﬂ?mm#ma:m#ammmmmwaﬁaﬂﬁmwﬁml
Afw o F I @1 AN TS, I FAT AgA F WA A TF HeAdd Yol AP IHT @I g TS|
wmmﬂaﬂﬁaﬁmmﬁgmwﬁ%ma@ﬁ#ma@aﬁmaﬁWMHﬁ
Al 37 afdF & A H @3 A IS JqIfA F NS T@A F AT AT 3HHFT FIOMt qW
3R revaaw @S FaAfy F ot 3W W FT a3 IwA

3YYFT AT F GgHT AT G AT ToA FT IR IASY:
- WOty &1 e ae §?

1. 3mafy

2. faufer

3. |HAT

4, grgdr

Correct Answer :-



¥ 1857 §. & TAENl AT YyUT AT WET FAR A WP g W I AR o, A T Sear H
IOt G AT B WA T A S qF| A Aey Ry F Rar F Aga F wedt ff;, W Rle T A F
ag A A T A T ¥ 37 @A AR ey A Fr wPT A wew R sy dwrmEed
guleT 9TNIoT FSF 1 Y UF AR gAld FX AT Bl FAR H WO gAHE WA F A HAGT
A g Rgy A 3R 7237 AR & e wea F1 Torwes o foam 3 @ s@H a5 N wFe
ST F g1 et FHF 9GS F AT F M § AT AET FT AgA HEH F & F1 ey fwamy
AT g & S @1 AT TE, 3H FAT AgA F WA A TF IcAd Yol AMAAT HH @I g T
30 A@HT AT [ATIfT FY a2 RIS g3, FAF Aew e F GAT TE Ao Ig FE @ T @
ol 39 st & W A @3 AR AT Fafa F MY AR { AT AT 3WFT FIOMQT AW
3R IrevaTw q@HT daAfy F off 3 W Fo AT IwA

39T AT F GGHT oAl G& AT TA FT 3R IAS4:
geat- d1at & 3 FiT @D & 7 oA?

1. foge aier

2. 598 A HIS G

3. AT ATES

4. &dr Hemr

Correct Answer :-

o ol Har

28) wel 1857 §. ¥ TaQKl SaT YYUd AT WEd FAR H FAGA gl T o« HE o, df F Fedr A
Foelt O AT W WY T F S 7F| A Ay Rew F R F Az # Wt O, W RAw A w7 F
ag At A 9 @ FRar § 39 e R oy & wr e F s W M @ Qmrery
goled amToT g # ot Uw AR gAl@ W a1 ¥ FEGR A #Mwer gAwis A F A IS+
s g gt i 3R a1 Ry & A awa 1 Towed G @A 71327 @ 367 qga NG weal
ISt & gy et gHS ATe IS A A9 F MAT F AT GEd F AgA HEA F A F ey frm
AfF o F I T AN TS, I FAT AgA F WA A TF Hcdd Yool AP IH @I g1 TS|
wmmﬂaﬂﬁaﬁmmﬁgmwﬁﬁ?ma@ﬁﬁmwaﬁmaﬁWMHﬁ
A 37 afdd & A H @3 A IS JqfA F NS T@A F AT AT 3HHFT FIOM AW
3R Irevaaw q@HT FAfy F ot 3W W FT a3 A

3YYFT AT F GgHT Al G AT oA FT IR IASY:
qeat- SifesT o Aafa & F4T 31aE HFar?

1. Ardt T @A HT

2. @1 | Tl el &

3. el ST T

4. 3l o ST &

Correct Answer :-

o A T S HT



¥ 1857 §. & TAENl AT YyUT AT WET FAR A WP gl W I AR o, A T Sear H
IOt G AT B WA T F S qF| A Aey Ry F Rar F Aga F wedt ff;, W Rle T A F
ag A A T A T ¥ 37 @A AR ey A Fr wPT A wew R sy dwrmEed
guleT 9TNIoT FSF Y UF AR gAld FX AT Bl FAR H ior gAHE WA F A HAGT
A g Rgy A 3R 7237 AR & a1 wea F1 Toraes o o @ @ swA a5 A wFe
ST F g1 et FHF 9GS F AT F M § AT AET FT AgA HEH F & F1 ey fwamy
s g & ST @1 AT TE, 3H FAT AgA F WA A TF IcAd Yol AMAFT HH @I g T8
30 @R IS [ATITT FY a2 RIS g3, FAF Aew qeA F AT TE Ao I@ FE @ T @
ol 39 it & W & @3 AR AT Jafa F MY AR { A1 A7 3W9FT FIOMQT AW
3R Irevaw q@HT FaAfy F off 3 W Fo AT A

39T AT F GGHT oAl G& AT TRA FT 3R IAS4:
T - FAY $YOT FATHIS F ATE AT Fal AC A?

1. #AIYT

2. Foiltal

3. frge

4. SATGIEIG

Correct Answer :-

o foaT

%

30) & 1857 §. & FaQME) AT YU AT Wed FAR H HAGA g W 9 AL o, at § Fodr 7
Foelt G FAT W WY T F S wF| A Ay Rew F Rer F Az # Wt O, W RAw A w7 F
ag At A 9 @ FRar § 39 e sk oy & A e F s R @ QmreRy
goled amToT g @ ot Uw AR gAl@ #W a1 ¥ FEGX A MU gAEs A F A IS
ﬂﬁﬁﬁmﬁwaﬁrmwﬁﬁwﬁmmmmmﬁmmwmmmm
mtmmmsﬂ?mm#ma:m#ammmmmwaﬁaﬂﬁmwﬁml
Afw o F I @1 AN TS, I FAT AgA F WA A TF HeAdd Yol AP IHT @I g TS|
wmmﬂaﬂﬁaﬁmmﬁgmwﬁ%ma@ﬁ#ma@aﬁmaﬁWMHﬁ
R 37 afdF & A H @3 A IS JIfA F N T@A F A1 AT 3HHT FIOM qW
3R revaaw @S FaAfy F ot 3W W FT a3 IwA

3YYFT AT F GgHT AT G AT ToA FT IR IASY:
T - Qg &1 T 3T 71 §?

1. &3

2. 9T

3. SeTad

4, Fifa

Correct Answer :-

Topic:- Science (SCI)



1) A creative teaching method to introduce kids to the world of science with fun, like basics of
astronomy, biology, physics, earth science, etc. is:

AR & W R{aE #1 gfaamr & awal # @y WA A vF TaArens Raqor
fafey, S & @aer R, s faarmer, silfahy, gt R anfe, et @

1. Science Exhibitions / fa=eT weifaar
2. Science Games / fa<iTel @

3. Science Fairs / fa<iTeT el

4. Science Songs / faaeT 3T

Correct Answer :-

« Science Songs / faaeT T

2) Who gave the model of “Cone of Experience”? /
" HE TFENRIE" FT Al foresr faar ar
1. Burton / ST

2. James S. Kinder / 9% T, fhst

3. Edgar Dale / USIR 3ol

4. Carter V. Good / @TeX dT. LIE]

Correct Answer :-

« Edgar Dale / TSI 3¢

3) Developmental Psychology is studied by other scientists, Except for:/

fFracAs AT A F sigat g defas! qarr sregasr fFar s &
1. Anthropologists / FTAd AA (TUAATSES)

2. Biologists/ Sif@ AT (STATATTSIES)

3. Physicians / $ifae faamet (forere)

4. Physicists / #ilfde faq (Thiafaaee)

Correct Answer :-

. Physicists / #ifde fag (BafaTEe)



4) What is one method of transferring information from short term to long term memory? /

qg-Frefler § dr-Frelier Ffa # gae TR F6 A Q@AY T §
1. Rehearsal / ‘:I‘\T:ISFS-W

2. Decaying / 9ddl

3. Delaying / Taererdr

4. Chunking / Tfemar

Correct Answer :-

» Rehearsal / qﬁr&w

5) What is the smallest unit of speech known as? /

$ITYOT Y A BT SHIE H FAT Fgl AT 872
1. Morpheme / & (HATHI)

2. Word / T8¢ (d3)

3. Syntax / dFg-[a=arg (Rceq)

4. Phoneme / TaTAH (ThleTed)

Correct Answer :-

« Phoneme / ¥IfAH (PlTF4)

6) Permanent hardness of water is due to: /

ST T TARN FSRAT FT HRT ¢
1.C8CO3

2. Mg(NO3 )2
3. MgCl,

4. Nap,CO4

Correct Answer :-

7) Three forces 20N, 30N and 50N are acting on a body placed on the
horizontal plane. Here, the 20N and 50N are acting towards left and 30N is



acting in the opposite direction. Now the resultant force acting on the body
is: /

TH &fds Add W @ TF A& 9T 20N, 30N 3R 50N & i oo era &1 20
N 3k 50 N, a1 3T oera § 3k 30 N Rudig fem & oerg & e | e aran
gfRorHY g fraer €2

1. 40N towards right / &I@ 3i1R 40 N

2. 40N towards left / aT¢ 3R 40 N

3.40N in the downward direction / =< &I 31X 40 N
4. 100N towards left / sT¢ 31X 100 N

Correct Answer :-

« 40N towards left / STT 30X 40 N

8) Ultra microscope is set up based on which property of colloids. /
oSl ABHIEHIT Fldigs F FT 0T F IUR W TR fBFar ma g

1. Brownian movement / s3faaer a1fa

2. Tyndall effect / f&sor gsma

3. Electrophoresis / degdeor Heeld
4, Coagulation / STHATG

Correct Answer :-

. Tyndall effect / &ger gaTa

9) is not an organic acid. /
__ UF yeMias HFd dQ e
1. Oxalic acid / 3Neafeles 3Far

2. Acetic acid / tfafes 3rFar

3. Formic acid / ®iffe 3Fd

4. Carbonic acid / Frafas 315

Correct Answer :-

« Carbonic acid / Fefas 31Fd



is the only mode of heat transfer which doesn’t require a material
medium. /

THAT FSAT TAATGROT HT adlet § forad ameft aAreasr & sraeasar 78t
gl 81
1. Convection / gdgsl
2. Heat pumping / AT 9f&qer
3. Conduction / dTefsT
4. Radiation / TafeRor

Correct Answer :-

. Radiation / fafezor

11) If the amplitude of vibration is increased to three times of its initial value,
then the loudness of sound will: /

IR FIT F IAH N $8F IRAF FqeT F AT 1 aF q91 RAwT IAwew §, A eaf
$r gaedar g

1. be doubled / &I AT

2. be six times of its original value / {0 ARdfd® T &1 ST :
3. become three times of its original value / 30 dRdfd® T BT A AT
4. become nine times of its original value/ 30 IRAfd® A &1 A AT

Correct Answer :-

- become nine times of its original value/ 370 ARdfd® A &1 A AT

12) |n an electrical cell , the energy is stored as:
% fagga A« A, F F W T A WAL AT S g
1. Charges / 3maeit

2. Heat energy / FSAT 3ol

3. Chemical energy / IS Fall

4.Nuclear energy / 9XHT] Zsit

Correct Answer :-

. Chemical energy / TaAfAe Fall



13) Select the statement which is not true: /
39 FYA FT IIT FY T T gl &

1. Sound travels faster in metal than in air. / €afel, arg T 39&T arg & doft &
ITT LT B

2. Sound can be easily propagated through vacuum. /
fadta & #Tegdm & eafer 3maeEt @ gaRa & S dahdr g

3.Sound can be produced by the vibrating air column. / €afs, $9el gaT TAH
GaRT 3cdTied fRaT ST FehT g

4. Sound can be propagated through any medium. / T3t ot A1eow & @af= st @
TR P ol Tebal g

Correct Answer :-

« Sound can be easily propagated through vacuum. /

fata & aregs @ eafa g O gaia it 31 Gohdr B

14) Select the pair of forces which are non-contact force: /

3 gl & FIA F TIFT F, A HERY (AlA-Flecde) a0 ¢

1. Magnetic force and electrostatic force / Iaehd a7 3R ER degd oo
2. Muscular force and magnetic force / 92l s 3R IahrT ool

3. Muscular force and frictional force / 92t sof 3R a¥oT o

4. Electrostatic force and frictional force /R degd ae 3R a¥or §of

Correct Answer :-

« Magnetic force and electrostatic force / I & 3R R deg ol

15) In which one of the following cases will Common salt dissolve in water
most readily? /

frafaf@a # ¥ e RUfY & 9URor a7F 96 & 9@ @oar ¥ [ReRa @
STTI?

1. 10gm of Ice at 09C / 00 AfeTIEm W 10 7T %

2.10 ml of water at 900C / 900 afeaaw ux 10 fAMNN e

3.10 ml of water at room temperature / THAT d9ATT W 10 fHelellex o
4.10 ml of Ice cold water / §hfer 33 ST &1 10 ATl



Correct Answer :-

. 10 ml of water at 909C / 900 afeaad W 10 AT Il

16) Alternating current is not used in: /
YTadl 8RT FT 39AET SHA AT fFar siar
1. Transformers / STABIER

2. Electric heaters / faggd amae

3. Electric geysers / facgd ek

4. Electro plating / faegd st

Correct Answer :-

« Electro plating / faegd oue

17) The process of conversion of water vapour into liquid is called: /
STl aTSY & gd H TAIROT dr yfhar wgerdr 8

1. Sublimation / Ftdurdel

2. Condensation / e«

3. Melting / dTeleT

4. Fusion / @fFasmor

Correct Answer :-
. Condensation / g«

18) During rainy season the rain water goes deep down into the earth
passing through different layers of soil.

Which one of the following processes does not occur during rain water
seepage into the soil? /

m#ﬂwﬁaﬁermwﬁﬁgﬁ$ﬁﬁmqﬁ#w§cq&ﬁaﬁm
A =T AT B

aifer & qeh & el o R & G Rrefat@e F @ S @ ufear ad aRa
gl 87

1. Filtration / AEdee
2. Sedimentation / 3IddIGH



3. Distillation / 3mddeT
4. Decantation / fAEaroT

Correct Answer :-

- Distillation / 31mddeT

19) |dentify the correct set of isotones among the following options. /

Arfaf@a Rl # ¥ gaeafas & 3T d¢ A gga=T F

15 16
1 2N and 30

16 18
a0 and 50
40 40
soCa and 15K
194r and 19K
4,

Correct Answer :-
15 14
2N and “g0

20) If ‘F’ is the force, ‘m’ is the mass and ‘v’ is the velocity, the dimensions
of ‘X’ and ‘Y’ on the relation

F = X(mv) / (1 + Y) are respectively /

P aa e ‘mMgAAA IR vV AT E, AT F = X(mv) FFag & X 3R Y &
IHATH gh-

1. T, T

2. LT1, LT2

3.1, dimensionless / T-, 3mamageT
4. dimensionless, T / 3™AHg, T

Correct Answer :-

.« T-!, dimensionless / T, 3mam@g=



21) The commercial unit of energy is expressed in terms of: /
FaT Y aIfofSas sH1$ 5 Ul H uFd i AT §:

1. Nm

2. kKW

3. Joule

4. kWh

Correct Answer :-

« kWh

22) Which of the following surfaces absorbs the least amount of heat energy
when exposed to heat radiation? /

faf@a & @ Fiq @ Gag FAT [AFEOr & G9F 7 3 W FA q FH FSAT ST
F ITMNT FIAT 872

1. Surface coated with white paint / @he e & ofUa Idg

2. Surface coated with red paint / &l Ue & Jfdd adg

3. Surface coated with black paint / &rel Y & Jfdd Idg

4. Surface coated with dark green paint / T8¥ 8¢ Uc ¥ qiftd Ide

Correct Answer :-

. Surface coated with white paint / I%e ¢ & ofdd dds

23) Which of the following statement is true: /

faf@a & ¥ sl a1 FuaT 97 &

1. Thrust is the force acting normally on a surface. / 89 Ush ddg W AT FI
d HTH A Il g B

2. Pressure is directly proportional to the area. / gd1d, &% & YcJal mﬂmﬁm
el

3. As thrust increases pressure decreases. /| SIH-o1d 819 §&dl § GoId HH gIdT
ST &

4. Pressure is inversely proportional to force applied. / GaTd, AR §d & [qURId 3TITd®
gl

Correct Answer :-



. Thrust is the force acting normally on a surface. / &89 Ush ddg W THGCT I
q S FLA dTell dT gl

24) Which of the following combinations are most suitable for composite fish
culture? /

faffa aceurea & v fafaf@a & @ $la a1 g qa@ s9gFa 82
1. Middle zone feeders and bottom feeders / #ALI e HIET T dicH HIET
2. Surface feeders only / had Tdg s

3. Surface feeders,middle zone feeders and bottom feeders / Idg WIe3, A NIC|
I8 Td dicH Biax

4. Surface feeders and bottom feeders / Gdg WIS Ud SIcH IS

Correct Answer :-

« Surface feeders,middle zone feeders and bottom feeders / ddg tlﬂER, " A
e TG dicH Biex

25) Which of the following natural phenomena cannot be predicted
accurately? /

feafaf@a & @ v yefas gear 6 wds sfasgamh 7@t i a1 =t 72
1. Lightning / fe<Telr

2. Thunderstorm / 3fTef-qohret

3. Earthquakes / &9

4. Cyclones / dshdrd

Correct Answer :-

- Earthquakes / 3{h+q

26) Which of the following is not an animal protein? /
frfaf@a @ Fa1 e sa e ad 82

1. Wool / 3T

2. Silk / YA

3.Milk / g&
4, Pulses / GTel



Correct Answer :-
o Pulses / cTel

27) Which of the following is not related to sound? /
famfaf@a & @ #l7 @« ¥ g&afta a8 &2

1. Frequency / 3mgfa

2. Microphone / HTSShI%IsT

3. Loud speaker / @138 T

4. Myopia / AT

Correct Answer :-

« Myopia / AT

28) Which is not a major advantage of Crop Rotation? /
famafaf@a & @ ¥ wuer sradsr 1 qET W FAE 32
1. Additional use of fertilizers / 3d%eht T JfAREFT ITAT

2. Conservation of soil productivity / #HeT 3cdrgehdr T T80T
3. Weed control / WUdAR faAa=or
4. Increased yield / 39T & Jefor

Correct Answer :-

. Additional use of fertilizers / 3a3aT T JTaREFT 3T

29) Choose the incorrect physical property of non-metals. /
gt F R sifaw aor #1 ame

1. Generally they have low density. / THIC: Odcd HH BT ¢
2. They are not sonorous. / FIEEY '_-@3[ %ﬁﬁ %I

3. They are brittle in nature. / W ff ‘J-I"R @ﬁ %I

4, They have high tensile strength. / 3@ d-ddl &HdI gt %I

Correct Answer :-

« They have high tensile strength. / 3= d=Idl &HdI gral %I



30) Choose the incorrect statement among the following: /
famer F @ IqRa gaded F1 9T F
1. Potassium is always stored in water. / GIfRIIH & gARM U= F I@T AT &l

2. Potassium can be cut easily with a knife. / 9RfRIIHA Us =y & A & el
ST HhaTT Bl

3. Potassium reacts with dilute acids to produce hydrogen gas. /
gISSIolel I T 3cUIee el & foU URTRAITA o] 3Fe & |y HAfHAT e g
4. Potassium when burnt in oxygen forms its oxide. /

JFEeT H ST S W AR F1 ’Fa8s ST gl

Correct Answer :-

. Potassium is always stored in water. / RITH & §ARM I F I@T AT &l

31) When a spring is stretched by 2 cm, it stores 100J of energy. If it is
stretched further by 2 cm, then the stored energy will be increased by: /

9 TH FHARN T 2 A g difd fm Sar §, 9 8@ 100 FAT FART @ §,
I 0 2 Gt 3k 3Rw afaa frar Jrar §, a9 @ada FoT # frael g g

1.400J
2.100J
3.300J
4.200J

Correct Answer :-

» 300J

32) Out of the following options, select the correct relation for the electric
power. /

frrafaf@a Reedt & @, fAgga ofFa F T 7@ Fer F1 a9

1.P = V/R?

2.P = V2R
3.P = I/IR?
4.P = I?R



Correct Answer :-

- P = V2R

33) An olfactory indicator among the following is: /
far & At v T gEE @

1. Phenolphthalein / ®iATaF o

2. Soap / |IgsT

3. Clove / dlter

4. Turmeric / goor

Correct Answer :-

« Clove / @i

34) The SI unit for measurement of length is: /

waTS Y H1Y & Y SI THTE 2
1. Millimeter / ffell#itex

2. Kilometer / forelldTex

3. Centimeter / GEHICT

4. Meter / HIeX

Correct Answer :-

o Meter / Al

35) If a student is able to make predictions in an experiment by making logical
connections using correct evidences, he/she is capable of: /

afe Bis faamdf T el &1 IuahT Fxd arfhe Tae FTHR fhedt wahT o gd-guan 34 | em
2, Y 98 o & e &

1. Drawing conclusions / foTsey foepreretr
2. Observation / 3idellehe]

3. Experimentation / TR

4. Providing explanation / E@W Yald hAT

Correct Answer :-



« Drawing conclusions / sy faeprear

36) What is mineral oil? /

@frer o w1 82

1. A mixture of glycolipids / TSRITITUS T Teh THAOT

2. A mixture of hydrocarbons / BISSITSaAl &l Ueh AT

3. A mixture of lipids and minerals / foIfast IR @fast &1 v AT

4. A mixture of water and oil / 9TeiT 31X Ol &1 T fASOT

Correct Answer :-

« A mixture of hydrocarbons / EISSIhIaAT T Teh fHSOT

37) Find the time taken by the sound to travel through a distance of 5 km, if its
frequency is 2.5 kHz and the wave length is 20 cm. /

gfe @ Ft gty 2.5 fFaieds 8 ok aimesd 20 9 8 @Y 39 5 et St amm ve=
o= o @, 9| @82

1.2.5s / 2.5 Q%3
2.20s / 20 T3
3.10s / 10 T&3
4.15s / 15 Ths

Correct Answer :-

- 10s / 10 Gs

38) Neem leaves and its twigs are used in the production of tooth pastes.

Identify the substance present in them which prevent tooth decay. /

A F uat 3 s @AY FT 3TAT SqFHIANTE F 3T H FAT AT 71 SHA
3YTe &dl Y ST W Y Vel AT ded HT I S|

1. Carboxylic acid / PIafFEIfo 31Fd
2. Alkali / 3Tceholl
3. Mild acid / gehl 3H&Fol

4. Salts / odoT



Correct Answer :-

o Alkali / 3Toeholl

39) Which one of the following factors will change the magnitude of Equilibrium
constant for the following reaction?

N2(g) + 3H(g) = 2NH3(g) /

mﬁaﬁﬁﬁqwmmﬁﬁawmﬁm%mww% gf¥aTor Hi
ded 3?

N2(g) + 3Hz(g) = 2NH3z(g)

1. Use of finely powdered Iron catalyst / SRieh ToT oilg 3c9Reh &1 3UATT
2. Decrease in the pressure of Ny / Ny & &aTd & el

3. Increase in Temperature of the reaction / AT & d9ART & defer

4. Concentration of Reactants / 31fR&a T Figar

Correct Answer :-

« Increase in Temperature of the reaction / 3ifAfhar & AMAT & gefer

40) Which of the following is not a part of the 5E constructivist model of teaching-
learning? /

frafifaa & @ & Rrer-firm % 5E WRE-mard) uiea o1 fw 76 82
1. Engage / @eldeT (T3TaT)

2. Elaborate /faEd (Tellsie)

3. Enhance / §gR ( Telgq)

4. Explain / 90TeT (TFHTola)

Correct Answer :-

« Enhance / SgcR ( Teled)

41) Which of the following is not a characteristic of a good textbook? /
Frafataa & 9 o4 I v =St uTengTas @1 faxivar 78 22

1. It may not cover the entire syllabus of one stage. / IJg Teh TIOT & ‘5I3' qISITshd i
afFAfad S8 T T B



2. It is a finished product for transferring the knowledge. / T§ 3T & §EATARUT & TolT Teh
IR 3¢9 gl

3. It should not be self-contained. / Jg TIAT 1 3Tcq gieAfed oT(ﬂ' glo_-il ali?ﬁl
4. It may not be necessarily for a whole year. / T8 T R a¥ & U 1aaes gt &) Il ]

Correct Answer :-

« Itis a finished product for transferring the knowledge. / I§ el & EAICRUT & ToIT Th
IR 39S &

42) Which of the following is an objective for teaching students of higher primary level
(V, VI, VII)? /

I WIS R (V, VI, VII) & STl & Rigor & fore Fafafeaa 8 @ a9 3 sexa 82
1. Development of understanding of laws, concepts and principles /
T2, JraeRom3it 3R fAcurdr I §AsT &1 9|
2. Development of power of reasoning / de Fr AafFad Fr1 Ae|
3. Development of practical outlook / SITAGTIeh T ISCHIUT I Tah|

4. Development of interest in reading scientific literature / 331® TR Ug & ®fI &1 BT

Correct Answer :-

« Development of power of reasoning / b @hT 2TTFd I A |

43) An example of merry-go-round can be used to explain which of the following
scientific concepts to the students? /

AN-M-IGs (FFSren) &1 Ierevur FAufefag # ¥ #19 W agfAe saurRun & o &) IHsm &
fore swiwTe foran =i Iar 82

1. Oscillatory motion / MEGHICEIG
2. Rotation of Earth / ‘:[?«T:ﬁ T Ej'\UﬁT-I'
3. Gravity / ZIW

4, Centripetal force / mﬁ-‘lﬂ'@' ER)

Correct Answer :-

+ Centripetal force / m@'ﬂ'@' CIS)

44) Clinical thermometer is designed to measure the: /



eI yrfdier ®i fd A= & forg fewrs= fora ma 8:

1. Temperature of the chemicals used in the clinic / Feliflss & T IHI=AT HT
A9 HTT

2. Temperature outside the clinic/ Felifaies & ST JITIATA
3. Temperature inside the clinic / Felifde & eI dATIHTT
4, Temperature of the human body / HIHd YRR &I dgHH

Correct Answer :-

« Temperature of the human body / HIHd YRR BT d9q™

45) What is the duration of kharif crops? /
TRIE Bl @t afd T 82
1. June to October / S & 3TeFcaR

2. March to September / ATE ¥ RydsR
3. October to March / 3fagaR ¥ A

4. November to April / TdeR ¥ 30U

Correct Answer :-

- June to October / 3 & 3feFcel

46) An object completes 120 revolutions in 30 seconds along a circular path.
The ratio of its frequency to its period is: /

TSP a3 UP URUT UY TR 30 s | 120 TRHHUN HI IRT Hdl 81 59 3afy & forg
SPT IMIRT BT SUTd 2

1.1:4
2.1:2
3.16:1
4. 4:1

Correct Answer :-

- 16:1

47) The force acting on the bullet when it moves through the air towards a
target is: /



gdc R T ITdT 99, 99 §aT § 3 3 3R TdT1 ¢ a1 989 8:

1. Force due to the gun / Sigeh & &HRUT ol

2. Gravitational force alone / 3Tehel WW LSl

3. Gravitational force and frictional force. / &carehyor el 3R 0T Tol|
4. Frictional force alone / 3T%hel &YUT §of

Correct Answer :-

. Gravitational force and frictional force. / W g 3T gvur o)

48) Expanding and cooling of hot air results in: /

TH ga1 ®1 faaR ok faa= 1 & | feaer ufvomy g &:
1. Condensation / T&eleT

2. Vapourisation / CILY G

3. Hail storm / frarayor

4. Precipitation / &g

Correct Answer :-

. Condensation / g«

49) The radiations absorbed by ozone are: /
3N gRT A=y fafdor §:

1. Ultraviolet rays / 9TsidaTelT fehor

2. Infra red rays / 3/a%a&d faor

3. Gamma rays / AT foRoT

4. X-rays | TqI-X

Correct Answer :-

. Ultraviolet rays / 9TsiereiT fopeor

50) A bus is moving with a speed of 72 km/h, convert its speed into m/s: /

T 99 72 fortll/ e ot nfa & 7 @6 8, 39 ufa & {3 § ufvafda #3:
1.10m/s / 10 &/



2.720m/s | 72 #/&
3.30m/s / 30 #H/a
4.20m/s / 20 #/a

Correct Answer :-

« 20m/s / 20 H/a

51) A teacher explains that during experiments, one can verify results using more than one
method. This shows an understanding of which attribute of scientific temper? /

T e urEAr ¢ § F v & ke, v @ 3w RfOAY w1 3 w1
IROUMAT F Tcafd fFar o1 Toar §1 s8R dafasw Tag @ Fia i@ [Fdwar &1
aer gxar &2

1. Critical thinking / 3TgsT RideT

2. Open-mindedness / TguTirerdr

3. Respect for evidence / @T&T & foIw GFATH
4. Logical thinking / dTfeper RIGeT

Correct Answer :-

« Critical thinking / 3TgeT fideT

52) For a person suffering from hypermetropia, the image of the object is
formed: /

e v A ifsa e afda & fore axg 1 ufafde Far s=an &:
1. Behind the retina / 3T & 9IS

2. In front of the retina / IfeAT & A

3.0n the retina / Yfear @

4.0n the eye lens / a7 o W

Correct Answer :-

« Behind the retina / Year & 9IS

53) Glucose drip is usually given to a physically weak patient because: /
TS fST MR IR IRIN® U | FHR 7R & fear sirar § Fife:
1. He is not drinking enough water. / d§ 9aTcd STel &l O I@T 8T gl



2. Dehydration can be prevented. / 38 TASTeIIUT T ARl ST v &l
3. It readily gets absorbed for energy. / T8 IRAdT ¥ Soll & AT Sr@=Nfyd &) Sdr g

4. He gets a balanced diet. / 98 399 Idfard 38R U1 B

Correct Answer :-

. It readily gets absorbed for energy. / I8 TRAAT T SHoll & T IRNT 8 Il B

54) If the angle of incidence in the first medium is equal to the angle of
refraction in the second medium, then the absolute refractive index of the
medium is: /

gfe ugd ATeaw | STufad HIvT goR WIeAH | 3UacT & PV S JHM B, df ATSH BT
qut SUad® GaDi® &

1.1.33
2.1.1
3.1.0
4.1.5

Correct Answer :-

-« 1.0

55) Which one of the substances mentioned below is not responsible for the
depletion of ozone layer? /

AR few e veruf & & S A1 el IRd & 3raerg & v Iaverd 7dt 22
1. Carbon tetra chloride / FTea ECTFARISS

2. Ammonia / AT

3. Aerosols / Qilﬁlﬂ
4. Chlorofluoro carbons / FARITISIRIGTE

Correct Answer :-

« Ammonia / 3T

56) Which one of the organisms mentioned below is a herbivore ?/
= gfofa Shal & @ #19 v APER 82
1. Shark / 2



2. Peacock / AR
3. Frog / ﬁw
4. Mouse / TgI

Correct Answer :-

« Mouse / JgI

57) Gallinaceous domsticated fowl,bred and raised specifically for meat
production is: /

Tepdpe-gath uraq ueh, ava o fafy U & 9 Iare & g uredt =t 3:
1. Rhode Island / 33 383
2. Turkey / 9% 9&iY

3. Broilers / §gelX

4. Ducks / sd@

Correct Answer :-

. Broilers / siseR

58) Unambiguous instructions are always required for: /
faFT & AT g Tuse A s aa &
1. Long Answer type questions / &rer 3T 9

2. Supply type objective questions / 3Tclst] (3-1th:%) JhR & a'&@ﬁta IReT

3. Selection type objective questions / TIeT FhR d{-gllro\-lbo IR

4, Short Answer type questions / o 3ALT YT

Correct Answer :-

« Selection type objective questions / TIeT YhX & d{-coimuo IR

59) Fishes live in water. It is their natural Use the right biological term.
/

#ofadl, gl & e §1 IE 3 Upfas | 3UgFT AfaF s FT AT
Exy

1. Home / &X¥



2. Habitat / 3mara
3. Environment / ardrayor
4. living space / g« &l TUTeT

Correct Answer :-

- Habitat / 3Targ

60) Which of the following topics clearly demonstrates the interdisciplinary
nature of science? /| AFfAf@d # ¥ =9 @1 vy Toe & F A"
e fawas yHfa & geiar 82

1. Colloids / PSS

2. Evolution / 3¢Hd

3. Programming / ShATGRIT (STITTH)
4. Astronomy / E3Tel ﬁ'&@T

Correct Answer :-

« Astronomy / @dltel faeam



